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Read the following passage and mark the leter A, B, C, or D on your answer sheet o indicate the correct word or
phrase that best fts each of the mumbered blanks

‘The combination of music and study has long been 4 source of
Parents and teachers alike maintain thatsilence is important when lear
their favourite sounds help them concentrat.
Now a study shows the grown-ups have been right al along. Psychologists in Florida tested how fast students
wrote essays with and without music in the (2). . They found that the sounds slowed progress down
by about sixty words per hour. This demonsirates clearly that it is difficult to cope with listening and writing at
ne time.'said Dr. Sarah Randall. She also (3). o conclusion that it is a myth that instrumenal
is Tess distracting that vocals. Al types of music had the same effect, she said in her report. ‘One’s ablity
attention and write fluently is likely to be disturbed (4) both vocal and instrumental music.
she added.
Dr. Randall claimed the rescarch demonstrated that the idea that music could improve performance was
wrong. 'Writing and essay is @ complex task. You are recalling information and putting it in order. An
additional stimulus in the form of music is bound o distract, But music is not the only distractor, What is

isagreement between adults and children.
ing. (1), ‘youngsters insist that

© worrying is that more and more teenagers are studying in front of the elevision

Ciut: Aunlike B.desy C.whereas D.besides
Ciuz: A.sumounding B.background Cusetting D.circumstances
Ciu3: Aarived Breached C.came D.drew
Ciud: Aby B.from for D.in

Cus: Aparly B.partcularly C.mainly D.largely

Mark the leter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined
word(s)in each of he following questions.

i 6: Every woman who has enough citria can join the beauty contest irrespetie of their background.
Adunder guaraniee Bin consideration of  C.on account of D.regardless of
(i 7: He has not been offered th job because he cannot mee the requirements of the company
Aundersiand Bsatsly Casee D.qualify
Choose the word whose underlined part is pronounced differently from that of the other words.
Cius: Abreathes B.houses C.changes D.boxes
Ciu9: A.confident B.collide C.practical D.determine
Choose the best answer to complete each sentence.
Chu10:—__ Amish live among non-Amish in modern rural America.
AA The co D.An
Ciu 1: The stdents o0 class yesterday must explain their absence (0 the teacher.
A.whonotcoming  B.didn’t come C.not coming D.who not came
Cau 12: As a family rule, my parents do not allow. telephone calls late at night
A.being made B.o make C.make D.makin
Ciu 13:Up to now she almost nothing about In
Achas known B.knew Cknows D.has been knowing
Cau 14: But L only lent you the book this morning! You italready!
A.can'thave finished  B.may have finished  C.should have finished D, must have finished
Cau 15: They've got some shoes in the sale at Derbyshire’s
A.fantastic ballet itk B.ballet famastic silk ~ C.silk ballet fantastic D fantasti silk ballet
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[image: image2.jpg]Cau 16: Students at university are called _______ while they are studying for the first degree

A-postgraduates B.graduates C.pre-graduates D.undergraduates
Cau 17: I never her mind that he would be found out

Acame Breached C.passed D.crossed

18:They exchanged leters for 15 years, but they neve metin person

A-positively B.genuinely Ly, D.actually
Céu 19: She was completely by his funny story.

Actaken in B.taken up C.taken away D.taken down
i 20 You'd rather stay at home, you?

Ahadn't B.wouldn't C.didn't D.won't
i 21; When did you last have the air conditioning 2

Auserviced B0 service be service D.servicing
Ciu22: the situation was not ideal, they decided to make a g0 of things.

A.Even though B.Despite C.Just because DIt
Cau 23101 you wereil, 1 you

Adknew- would visit C.has known- will visit

B.had known- would have visited D.had been knowing- would be visiting
Choose the word that has the main stress differently from that of the others.
Ciu24; Aopreface B.machine C.replace D.marine
Ciu2s: Ausimilar Buancestor C.marvelous D.historic

Read the following passage and mark the leier A, B, C, or D on your answer sheet to indicate the correct answer fo
cach of the questions

Diffusion. the process of introducing cultural clements from one society into another, occurs in three basic
pattems:diret contact, intermediat contact, and stimulus diffusion.

Tn dirct contct, clemens of  socity's culture may be adopted ist by neighboring socicties and then gradually
spread fanher afild. The spread of the manufacture of pape is n example of extnsive diffusion by dircet contact. The,
invention of pape i atributed o the Chinese T'ai Lunin A.D. 105, Within ffy year. paper was being made in many
places in central China. By 264 it was found in Chinese Turkmenistan, and from then on the successive places of
manufacture were Samarkand (751), Baghdad (793). Egypt (about 900), Morocco (about 1100). and France (1189). In
general, the patern of accepting the borrowed invention was the same everywhere. Paper was first imported into cach
area as & luxary,then in ever-expanding quantities a a staple produe, Finally, usually within one 1o three centuries, local
manufacture started.

Diffusion by intermediate contct occurs through the ageney of third partcs. Frequently, raders carry a cultural
it from the socity tht orginated it 0 another group. As an example of diffusion through inermediaris. Phoenican
raders spread the alphabet, which may haxe been invented by another Semitc group. 0 Greece. Al times, soldiers srve
a5 intermediares i spreading a cultue tai, During the Middle Ages, European soldiers ated as inermediaris in two.
ways: they caried European culture to Ara societis of North Afica and brought Arsb cultue back to Europe. In the

inetcnih century Wester missonarics brought Westen-style clothing o such plces as Afrca and the Paific ilands.

Tn stimulus diffusion, knowledge of a tait belonging (0 another culire stimulates the invention or development
of alocal equivalen. A clasic example of simulus diffusionis th crcation of the Cherokee syllbic writng system by a
Native American named Sequoya. Sequoya got the idea from his contact with the English yet he did not adopt the
writin system nor did he even Ieam (0 write English. He uilzed some English alphabetic symbols, altred others, and
invented new ones.

Cin 26: The passage mainly discusses how

‘A-economies grew through trade and manufacturing

B cultural elements transfer from one culture to another

C.paper came into general use.

D.cultures etain their unique charactristics

i 27: The word “gradually” in paragraph 2 s closest in meaning 10
Adlitle by lile B.largely C.sharply D.dramat

ly
Ciu 28: The word “successive” in paragraph 2 is closest in meaning 0
A.specialized B.principal C.following D.prosperous

Ciu 29: The word “it” in paragraph 3 refers 1o
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Ciu 3

B.socicty C.diffusion D.contact
\ccording o the passage. a change that occurred in Africa and the Pacific Islands as a result of the
arrival of missionaries was.
A.the manufacture of paper B.an increase in the presence of soldiers
C.variation in local syle of dressing D.the introduction of new alphabetical systems
Ciu 31:According 10 the passage, what did Sequoya do?
‘A.Create a Cherokee writing system based on elements of the English alphabet
B.Study English intensively in order to lear to write it
C.Teach English to Cherokee Native Americans
D Adopt the English writing system for use in Cherokee
G 32: In stating that the Cherokee writing system is a classic example, the author means that this example is
especially
Aold B.typical C.understandable D.difficult
i 33: Which of the following statements abou direct contact,intermediate contact, and stimulus diffusion is
NOT true?
A-They all occur in more than one culture.
B. They all involve the interaction of cultures
C. They all require the trading of manufactred products.
D. They all cause changes in culture,
Mark the letter A, B, C or D on your answer sheet o indicate the word(s) OPPOSITE in meaning o the underlined
word(s)in each of he following questions.
(Ciu 34:1've asked you umpteen times o clean your room! When will you do it?

“Amostof the time Binfnite times C.many times D.atno time atall
(i 35: Most counselors re trsined in order (o be able o reassure and gonsole students who have academic or personal
problems
Adiscourage BLargue Coplease D.satisty
Mark the letter A,B,C, or D on your answer sheet to indicate the most suitable response to complete each of
the following exchanges
Ciu 36: Tom:

Mike: Twon't say no!
A.How are things with you? B.What's your favorie, tea or coffec?
C.What about playing badminton this aftemoon? . Do you know where my shoes are, Mike?

Cau 37:Jane i talking to her teacher about her assignment

Jane: You must have found reading my essay tiring

Teach . Tenjoyed it
AAtall costs. B.Justin case.
C.Never mind. D.Not in the least.

Mark the letter A, B, C, or D on your answer sheet o indicate the underlined part that needs correction in
each of the following question
Ciu 38: The lion has long been 3 svmbol of strength, powerful and cructy.

Asymbol B.long been ca D.powerful
‘was not until his father threatened to punish him did he told him the truh.
Addid Bwas C.told D.t0 punish
Ciu 40: Happy people ofien find it easily (0 get to sleep and they slecp soundly.
Adtosleep B.easily C.soundly . Happy

Mark the letter 4, B, C, or D on your answer sheet to indicat the sentence that s closet in meaning t0 each
of the ollowing questions.
‘Cau 41: Driving a this speed is dangerous on this road, whether you are an experienced driver or .
A.No mater how experienced you e, driving at this speed is dangerous o this road
B_No mater how dangerous the road s, you ar an experienced drive.
C.However experienced you are, driving a this speed on this road i not dangerous.
D.As you are an experienced driver,driving at this speed i dangerous in this road.
i 42:The doctor old him not 1o talk during the meditation.
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[image: image4.jpg]AHe was told by the doctor not o talk during the meditation.
B.He has been told by the doctor not to talk during the meditation.
C.He is t0ld by the doctor not 1o talk during the meditation.
D. He was being told by the doctor not to talk during the meditation.

Ciu 43: Youd better stop taiking or you'lldig yourselfa decper hole.
A.You should stop talking, or else you'll be 100 tired to go on digging.
B.If you don't stop talking now, you will cause yourself a problem.
C.If you stop talking now, things won't be better for you.
D.You'd better stop digging, or the hole will become t0o decp.

Mark the letter A, B, C or D on your answer sheet o indicate the sentence that best combines each pair of

sentences in the following questions.

‘Ciu 44: Our products are environmentlly- fr

ly. We package all of them in recyelable materials

‘A-Packing our producs in recyclable materials, we made them environmentally - friendly.

B.Packed in recyclable materials, our products are environmentally-friendly.

C.The recyclable package of our products makes them look environmentally-friendly.

D.Our products are packaged in recycled materials to be environmentally-friendly.

inderstand why you detest her, I've finally met her.

A.Since I finally met her, | understand why you like her.

B. met her and | know your fecling.

C.lunderstand why you don’t like her due to I've lastly met her.

. Now that  have finally met her, | understand why you hate her.

Read the following passage and mark the letter 4, B, C, or D on your answer sheet o indicate the correct answer to

each of the questions.

When draswing human fgures, children often make the head oo large for the restof the body. A recent study offers some.

insighis into this common disproportion in children’s illusiations. As part of the study, rescarchers asked children

between 4 and 7 years old o make several drawings of men. When they drew front views of male figurs, he size of the
eads was markedly enlarged. However, when the children drew rear views of men, the size of the heads was not so

‘exaggerated, The rescarchers suggested that children draw bigger heads when they know they must leave foom o fuc

details. Therefore, the odd head size in chidren’s illustrations s a form of planning ahead and not an indication of 4 poor
sense of scal
Ciu 46: The main subject of the passage

A-What can be done 10 correct a poor sense of B how researchers can gather data from works of
scale a
C.how children learn to draw . what the results of an experiment revealed
Ciu 47:Itcan be inferred that during the rescarch project, the children dre.
A.sketches of both men and women B.only the front view of men
C.figures without facial expression D.pictures of men from different angles

e findings of the experiment described in the passage would probably be of LEAST interst 10
which of the following groups?
teachers of art o children B.parenis of young children.
C.expertsin children development D commercial artists
Cau 49:The word “odd" in line 6 isclosest in meaning o
Aexpected B.unusual C.huge D.average
G 50: The passage provides information (o support which of the following conclusions?
A.Children enlarge th size of the head because they think that it s the most important part of the body.
B.With training. young children can be taught (o avoid disproporton in ther .
C.Children plan ahead when they are drawing pictures
D.Children under the age of 7 do not generaly have a good sense of scale.
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Đáp án

	1
	C
	11
	C
	21
	A
	31
	A
	41
	A

	2
	B
	12
	D
	22
	A
	32
	B
	42
	A

	3
	C
	13
	A
	23
	C
	33
	C
	43
	B

	4
	A
	14
	A
	24
	A
	34
	D
	44
	B

	5
	B
	15
	D
	25
	D
	35
	A
	45
	D

	6
	D
	16
	D
	26
	B
	36
	C
	46
	D

	7
	B
	17
	D
	27
	A
	37
	D
	47
	D

	8
	A
	18
	D
	28
	C
	38
	D
	48
	D

	9
	B
	19
	A
	29
	A
	39
	A
	49
	B

	10
	B
	20
	B
	30
	C
	40
	B
	50
	C



